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° Complete the sentences.
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Could you write the number sentences in a different way?

° Write two multiplication sentences for each part of

the question.
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Do you agree with Dora? _NO

Explain why.
bx2=343+3+3+3+3 .

° Complete the diagram.

Number story Bar model @ Sx3z2¢+3+3+3+3 30 ks 3 nere,
m.u There ore 6 plokes 12 .
Wit 3 cupcokes on each e
ploke. ) HEAEBBE!
° Which is the odd one out?

6x3=18 , Tick your answer.
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° Complete the number line. Explain your answer.
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0x3 1x3 2% 3 3x3 Uix| D Sx%|3 Is there more than one answer? @
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